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II YEAR — IV SEMESTER

ADVANCED MANAGEMENT ACCOUNTING AND DECISION MAKING
Time : 3 hours

Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. Mention the meaning of schedule of changes in working capital.

2. What is comparative income statement?

3. What are liquidity ratios?

4. Write note on Zero base budgeting.

5. List out the budgets based on functions.

6. Define marginal costing.

7. What is margin of safety?

8. State any two causes for direct material cost variance.

9. Find out cash from operation from the following details:  Net profits for the year ` 25,000. Prepaid expenses in the beginning of the year ` 2,000. Prepaid expenses at the end of the year     ` 1,000. Depreciation for the year ` 1,000.  Salary outstanding in the beginning of the year          ` 1,000 Salary outstanding at the end of the year ` 1,500.

10. Indicate how the following items shown in common size balance sheet.

	Particulars
	2014
	2015

	Balance sheet total
	20,00,000
	24,00,000

	Fixed assets
	8,00,000
	12,00,000


11. Sales ` 5,00,000. Margin of safety ratio is 40%  and PV ratio is 50%. Find out Variable on sales 
      and BEP sales.  

12. Calculate Labour cost variance and  rate variances from the following details: 
      Standards:  40 workers to work for 8 hours per day in a 5 days week and paid ` 100 per hour.      

      Actual     :  43 workers  worked for 7 hours per day in a 6 days week and paid ` 110 per hour.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. What are the differences between fund flow analysis and cash flow analysis.

14  Discuss the advantages of budgetary control.

15. Explain the applications of marginal costing.

16. From the following details calculate (a) Current assets(b) Current liabilities
      (c) Quick assets(d) Stock.

      Current ratio 2.8, Acid test ratio 1.5, Working capital ` 1,62,000.

17. Draw a Flexible budget for production of 75% capacity based on the following data of 50% (1,000    

      units) activity.

      Materials ` 100 p.u., Labour ` 50 p.u., Administration expenses ( 50% fixed) ` 40,000.,             

      Selling expenses (60% fixed) ` 50,000.


18. Comment the profitability of each product when (a) Raw material is the key factor and                  

      (b) Sales quantity is the key factor

	Particulars
	Product A per unit
	Product B per unit

	Selling price
	200
	500

	Material (` 20 per Kg)
	40
	160

	Labour ( ` 10 per hour)
	50
	100

	Variable overhead
	20
	40


      Total fixed overhead ` 15,000. 

19. From the following  details, calculate variable overhead variances.

               Budgeted variable overhead ` 1,20,000. Budgeted output in units 20,000. Budgeted hours 60,000. 

Actual variable overhead ` 1,70,000. Actual hours 50,000. Actual output in units 22,000.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions

20. The  balance sheet of a company are given below.

	Liabilities
	31.12.2014
	31.12.2015
	Assets
	31.12.2014
	31.12.2015

	Capital
	1,50,000
	1,86,000
	Land
	40,000
	50,000

	
	
	
	Building
	35,000
	60,000

	
	
	
	Machinery
	1,00,000
	75,000

	9% Preference shares
	30,000
	---
	Debtors
	40,000
	60,000

	Debentures
	50,000
	60,000
	Stock
	45,000
	38,000

	Creditors
	50,000
	54,000
	Cash in hand
	20,000
	17,000

	
	2,80,000
	3,00,000
	
	2,80,000
	3,00,000


During the year a machine costing ` 10,000( accumulated depreciation ` 3,000) was sold for            ` 5,000. The provision for depreciation on 31.12.2014 ` 25,000 and on 31.12.2015 ` 40,000.        Net profit for the year ` 70,000. Prepare fund flow statement.

21. From the following information of a company,  Calculate(1) Current ratio (2) Quick ratio 
     (3) Fixed assets ratio (4) Debt Equity ratio (5) Proprietary ratio (6) Stock turnover ratio 
     (7) Fixed assets turnover. Sales for the current year ` 1,70,00,000. Gross profit rate 40%.

	Liabilities
	31.03.16
	Assets
	31.03.16

	Equity Share capital
	40,00,000
	Land & Building
	30,00,000

	6% Debentures
	6,00,000
	Plant & Machinery
	16,00,000

	General reserve
	18,00,000
	Cash in hand
	6,20,000

	Profit & loss A/C
	6,00,000
	Debtors
	14,20,000

	Creditors
	26,00,000
	Stock
	29,60,000

	
	95,00,000
	
	95,00,000


22.  The sales and profit during the two years are given below:

	Year
	Sales
	Profit

	2014
	1,40,000
	15,000

	2015
	1,60,000
	20,000


      Calculate: (a) P.V.ratio 


     (b) BEP 


     (c) Sales required to earn profit of s ` 40,000

      (d) Profit on sale of `1,20,000. 


     (e) Margin of safety for the year 2015.

23. From the following details calculate material variances:

	
	Standards ( Output 100units)
	Actual ( output 960 units)

	Material A
	6kg
	` 15 per unit
	` 90
	63kg
	` 14 per unit

	`882

	Material B
	4kg
	` 10 per unit
	`40
	39kg
	` 11 per unit
	`429

	
	10kg
	
	`130
	10kg
	
	`1,311


——————— 
[P.T.O.]











PAGE  
1

